
Q1) Complete the following Sentences by choosing correct alternative. [5]

a) IN Exports of India _______ region has the largest share.

i) Asia ii) Europe

iii) Africa iv) America

b) Balance of trade represents that the value of export and import of ____
goods.

i) Heavy ii) Invisible

iii) Visible iv) None of these

c) The Tarapore Committee was constituted by the _____.

i) Government of India ii) State Bank of India

iii) Reserve Bank of India iv) None of above

d) Foreign Capital leads to _____.

i) Inflation ii) Deflation

iii) Economic depression iv) None of these

e) World Trade Organization was established in ______.

i) 1995 ii) 1996

iii) 1997 iv) 1998
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Q2) Write Short Notes.  (Any Three) [15]

a) Balance of Payment

b) Changing structure of India’s Export.

c) Need of Foreign Capital

d) Exim Policy 2014-19

e) World Bank

Q3) Write detail answer on the followings (Any Two) [20]

a) Explain the remedies of disequilibrium in Balance of Payment

b) Explain the functions of International Monetary Fund.

c) Explain the Foreign Trade in India since 1991.

‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) Amdí¶H$ VoWo ZrQ>ZoQ>H$s AmH¥$Vr H$mT>mdr.

3) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb {dYmZo nyU© H$am : [5]

A) ^maVmVrb {Z¶m©VrV ........... àXoemMm gdm©V ‘moR>m dmQ>m Amho.

i) Am{e¶m ii) ¶wamon

iii) Am{’«$H$m iv) A‘o[aH$m

~) ì¶mnmaVmobmV ........... dñVyÀ¶m Am¶mV-{Z¶m©V ‘yë¶ Xe©{dbobo AgVo.

i) AdOS> ii) AÑí¶

iii) Ñí¶ iv) ¶mn¡H$s Zmhr
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H$) Vmamnmoa g{‘VrMr ñWmnZm ................ ‘m’©$V Ho$br.

i) ^maV gaH$ma ii) ñQ>oQ> ~±H$ Am°’$ B§{S>¶m

iii) ^maVr¶ [aPìh© ~±H$ iv>) ¶mn¡H$s Zmhr

S) {dXoer ̂ m§S>dbm‘wio .............. hmoVo.

i) ^mddmT> ii) ^mdKQ>

iii) Am{W©H$ ‘§Xr iv) ¶mn¡H$s Zmhr

B) OmJ{VH$ ì¶mnma g§KQ>ZoMr ñWmnZm ............... ‘Ü¶o Pmbr.

i) 1995 ii) 1996

iii) 1997 iv) 1998

à.à.à.à.à.2) Q>rnm {bhm. (H$moUË¶mhr VrZ) [15]

A) ì¶dhmaVmob

~) ^maVmÀ¶m {Z¶m©VrÀ¶m aMZoVrb ~Xb

H$) naH$s¶ ^m§S>dbmMr JaO

S>) Am¶mV-{Z¶m©V YmoaU 2014-19

B) OmJ{VH$ ~±H$

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao g{dñVa {bhm. (H$moUË¶mhr XmoZ) [20]

A) ì¶dhmaVmobmVrb Ag‘Vmob Xþê$ñV H$aÊ¶mMo Cnm¶.

~) Am§Vaamï´>r¶ ZmUo{ZYrMr H$m¶} ñnï> H$am.

H$) 1991 nmgyZ ^maVmVrb naH$s¶ ì¶mnma ñnï> H$am.





Q1) Complete the following sentences by choosing the correct alternatives given
below. [5]

a) ________is an ideal type of market.

i) Monopoly ii) Monopoly competition

iii) Perfect competition iv) Oligopoly

b) In perfect competitive market average revenue and marginal revenue are
_____

i) More and Less ii) Unequal

iii) Equal iv) None of these

c) Selling cost is important for increase the ______of commodity.

i) Price ii) Demand

iii) Quality iv) None of these

d) In the process of short-term equilibrium under the perfect competition,
the marginal cost curve intersects to the marginal revenue curve
from_____

i) Top to bottom ii) Left to right

iii) Bottom to top iv) None of these

e) ________ formulated the uncertainty bearing theory of profit.

i) Prof knight ii) Schumpeter

iii) Prof. Halley iv) None of these
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Q2) Write short note on any three of the following : [15]

a) Features of monopoly competition

b) Oligopoly

c) Product differentiation

d) Excess capacity

e) Modern theory of rent

Q3) Write detail answers (any two) [20]

a) Explain the Long period equilibrium of the firm and industry under perfect
competition.

b) Explain the Marginal Productivity Theory of Distribution.

c) Explain the ‘Liquidity preference theory of interest’ by Keynes.

‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ Amdí¶H$ AmhoV.

2) Amdí¶H$ VoWo ZrQ>ZoQ>Ho$ AmH¥$Vr H$mT>mdr.

3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbr {Xbobo ¶mo½¶ n¶m©¶ {ZdSy>Z Imbrb dm³¶o nyU© H$am. [5]

A) ................... hm ~mOmamMm AmXe© àH$ma Amho.

i) ‘ºo$Xmar ii) ‘ºo$Xmar ñnYm©

iii) nyU© ñnYm© iv) Aënm{YH$mar

~) nyU© ñnY©oÀ¶m ~mOmamV gamgar àmár d gr‘m§V àmár ........... AgVo.

i) A{YH$ d H$‘r ii) Ag‘mZ

iii) g‘mZ iv) ¶mn¡H$s Zmhr

H$) dñVyMr ................ dmT>dÊ¶mgmR>r {dH«$s IM© ‘hÎdmMm Amho.

i) qH$‘V ii) ‘mJUr

iii) JwUdÎmm iv) ¶mn¡H$s H$mhrhr Zmhr
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S>) nyU© ñnY}À¶m A§VJ©V Aën-‘wXVrÀ¶m g‘VmobmÀ¶m à{H«$¶oV, gr‘m§V IM© dH«$ ...............
nmgyZ gr‘m§V àmár dH«$bm N>oXVmo.

i) dê$Z Imbr ii) S>mdrH$Sy>Z COdrH$S>o

iii) ImbyZ da  iv) ¶mn¡H$s Zmhr

B>) ............... Zâ¶mÀ¶m A{ZpíMVVoMm {gÕm§V V¶ma Ho$bm.

i) n«mo. ZmBQ> ii) epånQ>a

iii) àmo. h°bo iv) ¶mn¡H$s H$mhrhr Zmhr

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ bKw {Q>nm {bhm. [15]

A) ‘ºo$Xmar ñnY}Mr d¡{eï>²¶o

~) AënOZm{YH$ma

H$) CËnmXZ {^ÞVm

S>) A{V[aº$ j‘Vm

B) I§S>mMm AmYw{ZH$ {gÕm§V

à.à.à.à.à.3) g{dñVa CÎmao {bhm (H$moUVohr XmoZ) : [20]

A) nyU© ñnY}Vrb CX²¶moJg§ñWm Am{U CX²¶moJmMo XrK©H$mbrZ g‘Vmob ñnï> H$am.

~) {d^mOZmMm gr‘m§V CËnmXH$Vm {gÕm§V ñnîQ> H$am.

H$) Ho$ÝgMm ì¶mOmMm amoIVm àmYmÝ¶ {gÕm§V ñnï> H$am.





Q1) Complete the following sentences by choosing correct alternative: [5]

a) ________ affects on the size of sampling.

i) Classification ii) Tabulation

iii) Data Collection iv) Graphs

b) Shortening the content means _______.

i) Classification ii) Tabulation

iii) Symbolization iv) All the above

c) In which the value of the facts does not change is called _______.

i) Variable ii) Constant variable

iii) Excluding variable iv) Inclusive variable

d) The ______ of a Circle is proportional to the value of factors.

i) Area ii) Radius

iii) Square root iv) Shape

e) Two variables change in the same direction, it is called _______.

i) Positive ii) Numerical

iii) Qualitative iv) Negative
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Q2) Write a short notes (any three): [15]

a) Median.

b) Types of Correlation.

c) Features of Good Report Writing.

d) What is Sampling?

e) Find the standard diviation using the following statastics 54, 62, 63, 65,
68, 71, 73, 78, 82, 84

Q3) Write in detail answer of following questions (any two): [20]

a) Merits and demerits of Sampling.

b) Objectives of Report writing.

c) Types of Tabulation.

‘amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb {Xboë¶m n¶m©¶mVyZ ¶mo½¶ n¶m©¶ {ZdSy>Z dm³¶ nyU© {bhm. [5]

A) Z‘wÝ¶mÀ¶m AmH$ma‘mZmda ................ gmYZm§Mm à^md nS>Vmo.

i) dJuH$aU ii) gmaUrH$aU

iii) VÏ¶g§H$bZ iv) AmboI

~) gm‘J«rbm bKwê$n XoUo åhUOo .................... hmo¶.

i) dJuH$aU ii) gmaUrH$aU

iii) gm§Ho${VH$aU iv) darb gd©
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H$) Á¶mV VÏ¶m§Mo ‘yë¶ ~XbV Zmhr Ë¶m§Zm ................... åhUVmV.

i) Mb ii) pñWanX

iii) AndO©H$ nX iv) g‘mdoeH$ nX

S>) dV©wimMo .................. KQ>H$m§À¶m qH$‘VrÀ¶m à‘mUmV AgVo.

i) joÌ’$i ii) {ÌÁ¶m

iii) dJ©‘yi iv) AmH$ma

B) XmoZ Mbo EH$mM {XeoZo ~XbVmV Ë¶mg ................. ghg§~§Y åhUVmV.

i) YZmË‘H$ ii) g§»¶mË‘H$

iii) JwUmË‘H$ iv) G UmË‘H$

à.à.à.à.à.2) Q>rnm {bhm. (H$moUVohr VrZ) [15]

A) ‘Ü¶‘m

~) ghg§~§YmMo àH$ma

H$) AmXe© g§emoYZ Ahdmbm§Mr bjUo

S>) Z‘wZm {ZdS> åhUOo H$m¶?

B) Imbrb AmH$S>odmS>rMm dmna H$ê$Z à‘mU {dMbZ H$mT>m. 54, 62, 63, 65, 68, 71, 73,
78, 82, 84

à.à.à.à.à.3) Imbrb àíZm§Mr g{dñVa CÎmao {bhm. (H$moUË¶mhr XmoZ) [20]

A) Z‘wZm {ZdS>rMo JwU Am{U Xmof gm§Jm.

~) Ahdmb boIZmMo CÔoe gm§Jm.

H$) gmaUrMo àH$ma ñnï> H$am.





Q1) Choose the correct option and complete the following statements : [5]
i) In motivated planning, bank's monetary policy plays an important role.

A) Merchant B) Rural
C) Central D) Cooperative

ii) ________ has an important place in democratic planning.
A) Individual freedom B) Decentralization of power
C) Forced D) Monopoly

iii) The 2nd five year plan of India was based on the Model of _______.
A) Mahalnobis B) HarrodDomar Model
C) Bombay plan D) None of these

iv) Which of the following is not matched correctly about NitiAayog.
A) NitiAayog head office: Delhi
B) Prime Minister: Chairman
C) Parent agency: Government of India
D) NitiAayogreplaced : National Development Council

v) Input output analysis is used in large quantities in _____ developed
countries.
A) Agriculture B) Trade
C) Technology D) Industrial

P.T.O.

SI - 379

B.A. (Part - III) (Semester - VI) (CBCS) Examination,
January - 2023

ECONOMICS (Special Paper - XIII) (DSE-E197)
Economics of Planning - II
Sub. Code : 75832/80132

Day and Date : Wednesday, 04-01-2023 Total Marks : 40
Time : 02.30 p.m. to 04.30 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw beautiful diagram where necessary.

Seat
No.

Total No. of Pages : 3



SI - 379

-2-

Q2) Write a short Notes (Any Three) : [15]
a) Exchange analysis

b) Labor-oriented production system

c) Gandhi Yojana

d) Planning and services

e) NITI Aayog

Q3) Broad Questions (Any Two) : [20]
a) Analyze in detail the key terms of successful planning.

b) Explain the role of National Development Council by explaining the
structure and function of planning board.

c) What is financial planning? Explain the pros and cons of planning.

_amR>r ê$nm§Va_amR>r ê$nm§Va_amR>r ê$nm§Va_amR>r ê$nm§Va_amR>r ê$nm§Va

gyMZm …gyMZm …gyMZm …gyMZm …gyMZm … 1) gd© àíZ Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) Amdí`H$ VoWo g§wXa AmH¥$Vr H$mT>m.

à.à.à.à.à.1) {Xboë`m n`m©̀ m_YyZ `mo½` n`m©̀  {ZdSy>Z {dYmZo nyU© H$am. [5]

i) ào[aV{Z`moOZmV ................. ~±Ho$MoMbZ nwadR²>`mMo YmoaU _hËdmMr ŷ{_H$m nma nmS>Vo.

A) ì`mnmar ~) J«m_rU

H$) _Ü`dVu S>) ghH$mar

ii) bmoH$emhr {Z`moOZmV ................. _hËdmMo ñWmZ AgVo.

A) ì`ŠVr ñdmV§Í`mbm ~) gÎmoÀ`m {dH|$ÐrH$aUmbm

H$) gŠVrbm S>) _ŠVoXmarbm

iii) ^maVmMr Xþgar n§M dm{f©H$ `moOZm H$moUË`m àménmda AmYm[aV hmoVr?

A) _hmbZmo~rg ~) hooamëS> S>mo_a

H$) _w§~B© ̀ moOZm> S>) darb n¡H$s Zmhr
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iv) Imbrbn¡H$s H$moUVo {dYmZZrVr Am`moJm~X²Xb `mo½`arË`m OwiV Zmhr?

A) {ZVr Am`moJmMo _w»`mb` … {Xëbr

~) n§VàYmZ … AÜ`j

H$) _yi EOÝgr … ^maV gaH$ma

S>) {ZVr Am`moJmZo `m§Mr OmJm KoVbr … amï´>r` {dH$mg n[afX

v) AmXmZ-àXmZ{díbofU _moR²>`mà_mUmV ........... àJVXoemV dmnabo OmVo.

A) eoVr ~) ì`mnma

H$) V§ÌkmZ S>) Am¡X²`mo{JH$

à.à.à.à.à.2) Q>rnm {bhm. (H$moUË`mhr VrZ) … [15]

A) AmXmZ àXmZ {díbofU

~) l_ àYmZ CËnmXZ V§Ì

H$) Jm§Yr `moOZm

S>) {Z`moOZ Am{U godm joÌ

B) ZrVr Am`moJ

à.à.à.à.à.3) {XKm}Îmar àíZ (H$moUVohr XmoZ) … [20]

A) `eñdr {Z`moOZmÀ`m à_wI AQ>tMo g{dñVa {díbofU H$am.

~) {Z`moOZ _§S>imMr aMZm d H$m ©̀ ñnï> H$ê$Z amï´>r` {dH$mg n[afXoMr ŷ{_H$m ñnï> H$am.

H$) Am{W©H$ {Z`moOZ åhUOo H$m` Vo gm§JyZ {Z`moOZmÀ`m g_W©ZmW© d {damoYr _Vo? ñnï> H$am.




